
 



Booth rental at Oil Patch is $50.  You are 

selling bags of cotton candy.  Each bag 

costs you 20 cents to make.  You sell each 

bag for $1.00.  How many bags of cotton 

candy do you need to sell to break even 

(revenue = costs)? 

 

Costs =  

Revenue =  

 

Another booth is selling popcorn.  Each 

bag of popcorn costs only 15 cents to 

make.  However, it can only be sold for 50 

cents per bag.  How many bags of popcorn 

must this booth sell to break even 

(revenue = costs)?   

 

Costs = 

Revenue = 

 


